(®SSCPORTAL.IN

Download
SSC CHSL
(10+2) Exam
Paper - 2015

(Morning Session)
"held on 20-12-2015"

Booklet No: 9115800


http://www.sscportal.in/

Downloaded From: http://sscportal.in

D0 NOT OPEN THE SEAL OF TIIE BOOKLET UNTIL YOU ARE TOLD T0 DO S0
5 TP &L IR T TR T ai e A e

Booklet Sr. No. AA-9115800
Tinee Allowed : 2 Hirs,
frmite ¥ e . mk

Test Form No. 9115800

Manimum Marks : 280
¥ETH F 200

Buad lth follawing instructions carefully before ¥you begin to answer the quesiiona.
This Buoklet contains questions in English as well as in Hindi Languagc.
nﬁfhm&##ﬂﬁ?ﬁ#ﬁmﬁi&dﬂm#wﬁl
W Qi 3 T sl e e i e & R e

Befure you start to answer the questions you must check up

this Booklet and ensure that It enntains all the pages (1-25)
and sce that no page is missing ur repeated, I viu Find any
delect in Lhis Booklet, youw must get it replaced ‘
immediately.
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INSTRUCTIONS TO CANDIDATES

FrtEART & e s

L. This Fooklet containe 200 guestions in all comprising the
Tollowing Four parts .

Farl=| Clenerel Inlelligenea {310 Questions)
Part=1l - Fnglish Langunge (30 Cuestions)
Partall1 - Cuantitaiive Agliuce {50 Ouestaons]
Part-I% - General Awarciess (30 Owestions)

2. In questions sct biligmally m English and Hindi langunge, in
case of discrepancy, the English version will prevail.

3 Al qm::llinm are mn'pn]m:r}- and Ay |:q|,r|| marks.

4. The paper corsies megrative naﬂl'ng 020 ks vl be slelucied
o EaCH Weong aRswer

Ao You will be supplied de Adsscr-Shect separaiely by the
Invigilabar, You nmsl complele and code e details of veme,
Rolf Munrber, Ticket Mwmber and Test Form Monber (n the
Answer-Sheet carefully. You nust also put vour signeture and
Lef-Hard thumb  impaesswn o G Amswer=Shee) ol the
prescribed  place before vou  actully  start amwening e
wuestions, These instrecimens must be fully complied with, failing
which, your Answer-Sheet will not be evalued and you will be
awarded *EZERO" mark.

B Amswers must be shown by comgpleely  Blackening, the
corresponding circles on Side-11 of the Answer-Sheel against the
relevant question number by Blaglk/Plue Ball Podui Pen only.
Anawers which are nst shown by Elick/Blne Ball-point Pen wall
not be owwrded any mork.

T A mechine will read the coded informatien in the QMR Answer-
Sheet. [n case the infarmation s incamplete or difTerent from the
information given in the application fonn, such candidzie will be
awarded RO inark

B The Answer-Bheet must be handed over 1o the Invigilator before
yiouu leave the Examination-all.

Y. Failure f8 comply with any of the above imstructions will
render a candidate liabke to such action / pendlty as may be
deembed fit.

14, The manner in which the different questions are to b answered
has been explained of the back of this Booklet (Page Mo 18}

which you should read carcfully before actually answering the

questions.

11. Answer the questions ss quickly and as carsfully as you can.
Some questions may be difficolt and oflers casy. Do not spend
too much lime on any question.

12, Mo rodgh work k to be dose om the Answer-Sheet. SPACE
FOR ROUGH W(HEK has been provided at the back of thia
Bookler.

13, "Mobile phoner and wireless commamicotion deviees are
complerely danned v the examivadlan koflcrooms. Condidater
are pdvived a0 Reep mebide pRonesiroy offier wirefess
conmesicalion devioes witk them rven in switched oif mode, in
their own interest Fabling to comply sitk this provision will be
considered a5 aring enfod meany in the cxamioafion and
action Wil be raken against them including cancellation of their
candidature.”
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PART-1 : GENERAL INTELLIGENCE (HTWI-1

I NBIM
: P (©) (D) MONR
1. Eight friends A, B, C, I, E, F, G and H are sitting 5. Find the odd word.
around a round table in the same order at equal S v a;“ag\ﬁu |

distances. Their positions are in clockwise direction.
If GG, wha is sitting in the North exchange seat with | R (B) Degrade / FEAH
C, and B exchange seat with F. Now who is sitting (A) Elope 5

to the right of F? LA el
HEATABCDEFGHRHSEMTATE | (O ppase / mmia (D) Humiliate /&
TRT AW 3 A A A FAEA g W AS §) S . e

Rt aftomad Ran & &) o G, S sew A

431§ C & 3o+t e age S & 3B et @ | 6. Find the odd letiers.

F 3 aee dar & o 3 PRI et dorgan | T amm #rgev

& (A) AC (B) BD

we s (C) CD (D) DF

C)A (D) B

7. Find the odd word.

v g Fr g |
2. If FATHER is coded as FBTIES, what should be the
code for the word SISTER? (A) ML.A /s

af FATHER & 15 FBTIES §, &l SISTERFI®IS |y oo\ e

=T BT Tifge? .
(A) SISUES (B) SKSVET (C) President / Tregafa Minister / F7HY
(C) SHSSEQ (D) TITUFS B. Find the odd number.
oA FET 1 gav |
Directions : (A) 56 (B2
In the following 9 questions, find the odd word /
number ! letters / number pair from the given (C) 128 Dy 16
alternatives,
fydar: Brrafaa 9 weat &, R v Reeat & 3 _
H . Fr | 9, Find the odd word.
P G S 37 T S Rt a1z A g |
3. Find the odd letters. .
ey 30T AT | (A) Swing / faar (B) Googly / I[Tell
By BDE
AyEet - (C) Bouncer/ a138T (D) Yorker ( Ti&T
(C) MOQ (D) LNP
10. Find the odd number.
4, Find the odd letters. fawm dwm Hﬁqﬁtﬂ
farysy 3 A AT (A) 49 (B) 36
(A) VNHK (B) NQMJ
2 Test Form No. 9115800

Downloaded From: http://sscportal.in


http://www.qmaths.in
http://www.qmaths.in

(©) 55 (D) 1040
11. Find the odd number.
foresy AGAT T AT |
(A) 67626 (B) 84129
(C) 32418 (D) 47632

12, From the given answer figures, select the one in
which the guestion figure is hidden / embedded.

& 7% 3o A A § 3 I HG A
afere Fraet a9 gl e B

Question Figure:
EEICOTE
N

N

Answer Figures:

I Tt

v E@
13. In a certain code COMVENTIONAL is written as

NOCNEVOITLAN. How is ENTHRONEMENT in
that code written?

it fdw @iz # CONVENTIONAL
NOCNEVOITLAN & &9 31 forar e & df 34
F1= 7 ENTHRONEMENT it &3 forar smeam?

(B)

Dy

(A) TNI;OR[—_J’,MEHJW"E (B) TNEROHEMNTNE
{C) TNEORMETNHNE (D TNEROHEMNNTE
Directions :

In the following 9 questions, select the related
word/letters/number from the given alternatives,

fady: REa s A A R ar Aeeat A &
T YT 3R g
14. Bullock : Cart ; : Horse : 7

&y e

(A) Plough/ e (B) Ride/ HaTT

(© facel TH (D) Tonga/ AT

15. Motor: Coil 1z 7

Het: zﬁﬁr 2w i

(A) Wheel : Bearing/qi&dr Ea‘-ﬂﬁ?‘T
(B) aegimem:smdimiﬁaﬁz:_m
(©) Tab]e:Chair!ﬂH:w

(D) Wheel : CarfaiRaT : FL

16. Blacksmith : Hammer::
g gtsrs: L
(A) Pen: Writer/ 3 : o7&
(B) (tarpemer:Wmd!a-TlﬁR‘T:?-ﬁ?ﬁ
(C) Surgeon ; Forceps/Taiet : AT
(D) Cloth : Tailor/aaT : &aff

17. CAT: DDY ::BIG:

(A) CML (B) CLL

(C) CEP (D) CLM

18. EAGLE : FCI_PJ i CRAWL:2
(A) DTDAQ (B) DTEZQ

(C) DTDBRC (D) DTECR

19, CEGI: DHLP:: KSEA: 7

(A) LTGI (B) LSGF
(€) LUIH (D) LVIH
M8 [ B2
- (A) a9 (B} 52
€28 (D) 68
3 Test Form No. 9115800
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Matrix/AEE -1  Matrix/3vagy- ||

21, 4863 - 2436::8132-4261 - oli1t{213]4 516]7|8|9

(A) 5926 - 1813 (B) 8346 - 4623 0|S|PJ{A|R|E||S|D|L|I|U|B

(C) 6214 -3122 (D) 9842 — 8421 1AL 1110 L1) L8 L) 10 RALY

2|AIR|E|S|P||7|U[B|D|L]|I

3|R|E|S|P|A||8]|1|U|B|D|L

22. 556:186::951: 7 4|E[S|P|A|R||9]|L]|I|U|{B|D

(A) 217 (B)176 (A) 87, 13,43,21, 88 (B) 88, 13,43, 44,2

(C) 317 (D) 286 (C) 88,87,43,21.13 (D) 87,13, 43, 88,21
23. A was twice as old as B, two years ago. If the Directions :

difference in their ages be 2 years, find A’ s age, In the following 4 questions, select the missing

ﬁﬂ#mﬁ#&]ﬂiﬂﬁaﬂ'ﬂﬂwmlﬁ ﬂmb:rﬁmmegi\rgnmpom_

et Y I a2 R, ar A & 3 s Yy mlﬁmﬁﬁaqma’fﬂ.ﬁamﬁmm‘rﬁ#
(A) B (By 10 d 3% A ffaw|

50 ® ©® @ ® @
)4 (D)6
(2 24 )
24. A word is represented by only one set of be
given in any one of the alternatives, Tril:‘emsaei? f:—sf @ @ E-r-jr

numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given (A) 42
below. The columns and rows of Matrix | are
numbered from 0 to 4 and that of Matrix 1l are
numbered from 5 to 9. A letter from these matrices LK (D) 18
can be represented first by its row and next by its
column, e.g., A can be represented by 02, 11 etc, and

L can be represenied by 56, 67 etc. Similarly, you | 26 qp

have to identify the set for the word BEARD.

U oeE AT U HEAT-HHE SaRT g o 94

Jar ™ Rweat & ¥ B ow & REw o eb

Rweat # v v Fear-wp yenl & o Tt

@R e 7T §, St P AR R e & et | (A 12 (B 14
¥ egE | & Fr AR IRA A EEm o A4 A&

{B) 56

)8 (D)9
% & 3 yregy U 5 & 9 FoT TSGRl ¥ U
HE ® dger 3HH dfea A ag 7 ware S -
@R AT o W | T FRTAF 02, | et 2
11 317 @y Ealvar S Fa & o L #Y 56, 67 JI‘ ; :
I gERT ZATET S FHA ¥ FE A A I - T
;:qﬂ-ﬁqmsmnntﬁmwﬂwﬁm P R

Test Form No. 9115800

Downloaded From: http://sscportal.in


http://www.qmaths.in
http://www.qmaths.in

(C) 30 (D) 50

B 3| ns| 2

12 116

7

?

110|115
(A)111, 114, 117

(B) 117,109, 111

(C) 114, 111,117 (D) 109, 111, 117

29. Which answer figure will complete the pattern in the
question figure?

Hter A I T et Il & wiows = g
M
Question Figure:

e Tl

Tt
I Tc— |-
T2 |H

Answer Figures:
Feel HTpTerr
ANt

i

(B)

T—r
i

30. If0, 1, 2, 3,..., 9 is written as a, b, c, d,...j, then find
de x f—(bf—d) * d.
i 0, 1.2 3. 9F a b, ¢ d...j & F7 & foar

TS, &t de * F— (bf - d) * d AT H11
{A) abe (B) bef

(C) abb (D) bee

31. Suresh walked 7 km cast and turned to his lefi
walked 4 kms. He then turned to his right and
walked 5 kms. Finally, he again tumed to his right
and walked 4 kms. In which direction is he now,
from his starting point?

e 7 Rt g Y 30T aear § T R el 9

. . ol s
—DbowntoadedHrom—hittp//sseportatin

3aelY & W A3 e & 3 S PR aear &) i
# ag P 3oelt g8 3R A3 S § sl 4 Rl

T ¥l IF I RO g @ R R A @2
(A) East'qd (B) westqf=aH
(C) North/z=a (D) Souh/zfEor

32, Which combination figure best represents the
relationship between mosquitoes, ants and insects?

ﬁﬁmﬂﬁﬁaﬂﬂﬁaﬂiﬁlm,tﬁﬁaﬂ?
Hie ¥ g g9y Fr gefcw a0F § Fela s

4
(A) e (D
(D) @

@
In the following 2 questions, from the given

Directions :
alternative words, select the word which cannot be
formed using the letters of the given word.

o Pnefafaa 2 weat A Rr e Reedt # 8
EWgﬁua’rfﬁumm#MﬁW

& AGT STl ST EehaT|
33. SYNTHESIS
(A) THEN (B)STORY
(C) THESIS (D) THIS

34, MANIPULATE

(A) POLLUTE (B) PINT

(C) MANTLE (D) PLATE

35. Which one of the given responses would be a
meaningful order of the following?

o=t Taraedt 71 & ot A Farare oAy o go ol
T T FH g &7

1. Stone/qT

& Sand g

3R 73 S § T 4 Bl Taa B 36 a1 T

3. Rock/ag
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4. Boulder FraTE= © @ ® @
5. Hill/Ter \

A)2,1,3,4,5 L4235 etters i
(A) (B) 5 39. Which one set of | when sequentially placed a
the gaps in the given letter series shall complete it?
5.3,2,1,4 W4 2.0,
(©) (D)5.4,2.1,3 It 1 F 7 EHE wrel e 9 FRAOR
F & 1§ @ F G FE
Directions : aac_bba_cc_baa cb_
In the following 2 questions, arrange the following abasc b
words as per order in the dictionary. w e
forder: Prrmfeaf@a 2 weal 3, el o gy 3 (C) bache (D) beach
ferw are s & sregan o
36. 1. Electrolysis
X E-|ﬁ.‘l.r!)‘t?r|:|ing Directions :
3. Electrician In the following 5 questions, a series is given, with
4. Elomn:'nplaling one term missing. Choose the correct alternative
5. Electrification from the given ones that will complete the series.
(A)5.3,1,4,2 ®)3,5,1,4,2 fder: el 5 weat &, o g foar &,
o5 1aa fordt o 9% et ¢ e are et & 9 o wf
03,3, 2.4, D) 3,5.4.1.2 R YT 3t 31 1 qU
40. 8,13,18,23, 7 ,33,38
37. 1. Yashmak (A) 23 (B) 26
2. Yacht
3. Yawl
4, Yawn (©33 oy 2
(A)2.3. 4.1 (B)2.4.3.1
41. 1001, 1004, 1012, 1027, _7_
2,1.3,4 D)2 1,4,3
(©) (D) (A) 1036 (B) 1051
38, ldentify the answer figure from which the pieces (©) 1050 (D) 1048
given in the question figure have been cut.
W # o me Y R 3o HIpfa A :
Hpfe g 42. HUUPQRDEF © VW
AFETTTE? AN
Question Figure: @A) BH
WO AR
©u m!

43. AC.EG, IK,

Answer Figures: (A)ON (B) LM

3ea HIpfaar

A @| ®) @ © Mo (D) OP

44. 824, 7 30,120

L] £l
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(A) 72 (B) 54
© 40 (D) 48
Directions :

In the following Tweo questions, two statements are
given each followed by two conclusions /
assumptions, | and [I. You have to consider the
statement to be true even if they seem to be at
variance from commonly known facts, You have to
decide which of the given conclusions / assumptions,
if any, follows from the given statements.

P AR 2 et . A Fm R
Toterdh Y 2 fovsehd/qaiegreT | & 11 fovered ore &)
HU&H! HiA=T § 7F FU7 7w ¢ 9 T gAna
T T2 & e v g @) 3oy Rt war
& T fodr 1o foeemst / qEiteprat A A St/ e
A A eaa w0 & w1 ganr w8 Pan s awar
tEEa§ AR FEEn

Statements | : Regular polygon has equal sides and
equal angles.

Il : Square is a regular polygon.

Conclusions | : Square has equal sides.

Il : Square has equal angles.

A | : FH AR BT HA ST 3N FAIT HioT
g gl
i1 : @ wA A &
e 1 : &t & e 3y gt &1
Il : 53T & FAW PRI B
(A) Conclusion I follows. e | BT &1
(B) Conclusion I follows. rs=d [| Frareran #1

(C) Neither 1 nor 1l follows. ¥ ar 1 AR T & Il
frmear £1

(D) Conclusions I & 11 both follows, Frswd 1 3R 11
2t ey €

45.

46. Statements | : The principal will address the students
at 10 am,

Il : You are requested to take your seats before 10
a.m.

Assumptions [ : If the student is not on his seat
before 10 a.m., the function will not start.

Il : The function will start as scheduled.

FuA | Riffod g@es 10 =t i

Hafta w4

I1: 319 & e § s qaieet 10 &7 & gge) e
FUIT TR0 7 o |

gaieA 1 : afe fagamdf gaew 10 a5 & e
AT FUTT AR TEOT HHAT dt ARG HRH o761
g

11 : AR TR T 9t 3m g

(A)

Assumption | is implicit.
it | femTen i wear §

Both | and 11 are implicit.

1 3itT 11 2=t P o A £

Neither I nor 11 is implicit.
s ar 1 3t = & 1| Rrerer o g gl

Assumption 11 is implicit.

QR || T ST Heel &1

(B)
©

(D)

47. If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?

o v gdor 1 MN Y@ W 1@ J ar & a1

JeaTt Hferat A A HeT T I weeT Apher Y
e wfafae gefe?

Question Figure:

W e
=

—
L]
N

Answer Figures:

Ieell et
(A) | = B)| —
M A
A )

48. If in a business, Alok gains 75% more profit than
Akash, then by what percentage profit of Akash is
less than the profit of Alok?

Ife it e A WEE B WERT T 75%
RIS @Y &, AT TR T ST HToieh o TH
AFF aRNa FA

Test Form No. 9115800
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(A) 42.85% (B) 30.8%

(C) 12.63% (M) 25%

49, If & means <:Omeans >; (] means = :then which of
the following follows definitely froma O b # ¢ O d?
afE 4 F7 3t <; O &7 37 »0R 3 =§.ara0
bi¥clld & PiRad v 2w 3 reaar

(A)b#d (B)alc

(C) b d MbOd

50. !f a paper is folded in a particular manner
is made, when unfolded this paper appears as given
below in the question figure. Find out the manner in

which the paper is folded and the punch is made
from the answer figures given.

uﬁﬁﬂhmaﬁrwﬁﬁmﬁﬁﬂmm
ﬁnnama‘rmaﬁﬂai"mmﬁﬁrmiﬂﬂ
HpfeY ST RBw dar Q7% SR nepfaat &
#ﬁmmﬁﬁ:mﬁﬁmmiﬂaaﬂwz
T I ar

Question Figure:

S

NI

7 X
"dp' .,qh.

Amnswer Figures:

m}f@ﬁﬁﬁr
N

and punch

(A) (B) 7

4y
(©) (D)
4

qb
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PART-11: ENGLISH LANGUAGE
Directions : 56, (vi
in the following Ten Questions, in the following - )
passage some of the words "IWE' been lefi out. Read EA} on (B} away
the passage c:lueﬁllly and choose the correct answer
o cach question out of the Four altemnatives and fi]| (C)at (L) over
in the blanks.
Bmile, they say, and soun there will be miles and
miles of smiles. If we keep (i) ourselves and do not 87, [i
mix wilh athers, we shall be left alone to ponder (i) - (iv)
the misfortunes of life. Nobady likes to come across (A) like {B) dislike
a {m[ and  self-centred person. People (iv)
gregarious a.nd outgoing souls who an: prepared to (C} opt () hate
share their joys and sorrows and have the (v] to
laugh (vi} their problems and miseries. Laughter
brings people (vii} whereus keeping o oneself 38 (i)
distanccs people. It has {vilil) been rightly said that )
laughter is the shortest distunce berween two {A) by {B) to
persons, Onee they {ix} together, the circle of
acquaintance, and consequently friendship ¢x) , thus {C) into (DY) with
making the world a happy place to live in.
S1. [viil)
[A) 50 {B) therefore 5% (x)
{A) orows (B} broadens
(C) hence (D} however
() widenz (¥ lessens
52, (v) )
(A) sense (B} feeling Bl A1x)
{A) come (B) sit
(C) capacity (I} intention
{C) are (D) go
53. (I
] Directions :
{A) into {B) over In the following Four Questions, choose the word
opposite in meaning 1o the gven word and mark it in
(Chupan {I) at the Answer Sheet.
Gl. Resist
(A) Yicld (B) Remain
4. (vil)
(A) apant (B} home {C) Adjust { D} Decline
(C) closer (D) far
&2, Elementary
C d B} Compl
S5, (i (A} Compoun {B} Complex
{A) kind {B) comic {C) Hard (M Involved
(C) glum (D) unselfish
9 Test Form No. 9115800
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63 Accumulate

[A) Below (B) Dismiss
(C) Disperse {D) Aware
4. Concur
{A) Disagres (B) Agrce
(C) Praise (D) Weak
Directions :

In the F‘c-lluwing Four Questions, out of the four
alternatives, choose the one which can be substituted
for the piven words/sentences and indicate it by

blackening the appropriate circle [®] in the Answer
Sheet.

65. An act of misappropriation of money
(A) Debasement (B) Misconduct

(C) Carruption {3} Embezdement

&6, One who cannot make any mistake
(A) lllegible (B) Invisible

(C) [naudible ([¥) Infallible

67. A person in charge of a museum
{A) Philatelist {B) Curator

{C) Mayor (M) Architect

8. The first public performance of o musical or
theatrical work or the first showing of a film

(A) Premiere {B) Proview
(C) Opener (D} Dbt
Directions :

In the following Twe Questions, a sentenes has been
given in Active/Passive Voice, Out of the four
alternatives suggested, select the one which besl
expresses e same sentence in Passive/ Active Voice
and mark your answer in the Answer Sheet.

10

| 69. The agreement hetween the management and the
workers was drafted by an advisory board.

(A) An advisory board hod drafled the agreement
between the management and the workers,

An advisory board drafted the agreement
between the management and the workers.

The agreement between the management and
the workers is being drafled by an advisory
board.

An advisory board is drafting the agreement
between the managemenl and the workers.

(B)

(€)

(m

70, Put up the tent.
{A) The tent is bemg put
up.
(C} The tent has been put up.
(D) Let the tent being put up.

{B) Let the tent be pul
LEp.

Direetions !

In the following Four Questions, the first and the
last part of sentence are numbered 1 and 6. The rest
of the seatence is split into four parts and named P,
Q. R and 5. These four parts are not given in their
proper arder. Read the sentence and find out which
of the four combinations is correct, Then find the
carrect answer and imndicate it in the Answer Sheel,

1. The Marmada Dam Project

F. many of whom

). the meost deprived sections

K. will displace some people

3. happer Lo belong ta some of

6. of Indian sacicky.

{A) PORS

Tl

(B) PSRQ

(C) SRQP (D} RPSQ)

T2, 1. Television,
F. has become
Q. the most powerful medium
R_ one of the marvels
5. of modern science,
&. of mass communiczation loday.

{A) PORS (B) RSQP
{C) SRQP ([} RSPD
73. 1. Whilc

B, | was walking
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Q. with my brother
K. I met a monk

8. in the feld

fi. who was from Nepal.
(A) RSQP (B) RQSP
(C) PQSR (D) PSQR

74. L. All religions show us the path
P. know that
Q. and wisemen
R. God is one
. which leads to God
6. but the paths are different.

(A) SROP (B) SQPR,
(C) QSPR (D) QPRS
Directions :

In the following Four Questions, a part of the
sentence is underlined. Below are given alternatives
to the underlined part which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed blacken the circle [®]
corresponding to "No improvement

75, Being a wet day, he stayed at home.
(A) Since (B) Though

{C} No improvement (D) As it was

76. 1 shall write 1o you when 1 reach Agra.
{A) would writeto you  (B) No improvement

{C) will write to you (D) should write to you

77. We've got a new hig housc.
{A) big new house (B) house big new

(C) No improvement {D) house new big

78. The President of India administers the oath of office
to the Council of Ministers.

(A) reads out the cath (B} imposes the promise

11

{C) No improvement
(D) supervises the vath taking ceremony

Directions :

In the following Four Questions, sentences are given
with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for ench
question. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
circle [®] in the Answer Sheet.

79. Take care your health.
(A) of (B) about
(C) for (D) over

80, The speeding car aman this morning,

(A} hit out (B) hit about
(C) knocked down {D) pushed out
81, The terrorists made a vain attempt to the
bridge.
(A) blow out {B) blow over
{C) blow down (D) blow up

82. Politics is the last
{A) resort

of scoundrels.
{B) retort

(C) report (D)) result

Directions :

In the following Four Questions, four alternatives
are given for the Idiom / Phrase underlined. Choose
the alternative which best expresses the meaning of
the Idiom / Phrase and mark it in the Answer Sheet.

83, This argument does not hold water.
(A) secm approvable (B) seem rejectable

(C) seem acceptable {D) seem logjcal

84. The truant school boy told cock—and-bull stories to
escape punishment,

(A) interesting and (B) authentic and
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thrilling realistic
{C) absurd and (D) drab and boring
unbelievable

85, Rohini reached the examination hall in_the nick of

time.
(A) just in tinve (B) just after time
{C) just before time (D) very late

86, To be down to earth.

{A) To be pretentious (B) To be impractical
{C) To be unreasonable (D To be realistic
Directions :

In the following Four Questions, some parts of the
sentence have emors and some are correct. Find out
which part of a sentence has an error and blacken the
circle [®] comesponding to the appropriate correct
option. If a sentence is free from error, blacken the
circle corresponding to "Mo ermor” in the Answer
Sheet.

We, in India can look forward to a comfortable and
settle life in the twenty—first century.

{A) toacomfortable and settle

(B) We, in India can look forward
{C) Noermror

(D) life in the twenty—first century.

B7.

§8. One should have their teeth checked every six

months.
(A) every six months. {B) One should have
{C) No emror (D) their teeth checked

89, A honest person is upright in speech, thought and
deed,

(A) A honest person (B) Mo error

{C) in speech, thought and deed.
(D) is upright

90. It is painful to saw that some youngsters are killing

time without doing anything useful.

Do

(A) [t is painful 1o saw that
(B) killing time without doing anything useful.
{C) Mo emor (D) some youngslers are

Directions :
In the following Twe Questions, a senlence has been
given in Direct/Indirect. Out of the four aliernatives
suggested, select the one which best expresses the
ame sentence in Indirect/Direct and mark your
answer in the Answer Sheet.
91. Robin said, "Hurrah ! | have topped again.”
{(A) Robin exclaimed joyfully that he had been
topped again,
(B) Robin exclaimed joyfully that he has topped
again.
(C) Robin exclaimed joyfully that he had topped
again.
(D) Robin exclaimed joyfully that he would have
topped again.

92, Ravi asked me, "Have you seen the Taj Mahal 7"
(A) Ravi asked me if 1 saw the Taj Mahal.
(B) Ravi asked me did | see the Taj Mahal.
{C) Ravi asked me if | have seen the Taj Mahal.
(D) Ravi asked me if | had seen the Taj Mahal.

Directions :

In the following Four Questions, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the

Answer Sheet.
93, Mistake
(A) Precise (B) Accuraie
(C) Mistook (D) Error
94. Acquire
(A) Lose (B) Renounce
{C) Procure (D) Relingquish
95. Filthy
(A} Clean (B) Dirty
(C) Spotless (D) lmmaculate
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95, Annaoy
{A) Revoke (B) Lazy
{C) Offend (D) Refuse
[Hrections :

In the following Four Questions, four words are
given in each guestion, out of which enly one word
is correctly spelt, Find the correctly spelt word and
mrark your answer in the Answer Sheet.

97, Find the correctly spelt word.
(A) Alkale (B) Alkali

() Alkeli (D} Alkalie
o, Find the correctly spelt word.

(A} Decesive (B) Deciseev

{C) Decesieve (D) Decisive
99, Find the correctly spelt word,

{A) Amature (3) Amateur

{C) Amateaur () Amatuer
100. Find the correctly spelt word.

(A) Millennium (R) Millenium

(C) Millanfum () Milennium
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UDE gl
PART-IL : QIJJ\.NTII.-’L'!'I\-'E APTITUDE (T

s HEATCA®
I T
the value of cosec @ is

afr sin(90° — ) + cos@ = ﬁmw-mﬁ.a‘r
cosec O &1 T T

[V (B %

{cy 2 (m _1_
E B

162, A shopkeeper sold an article at aloss of 200, But EE
he could sell it at 1200 maore, he could earmn a profit
of 9%, The cost price of the article i

Eid ﬂaﬁf:aﬁ:magrﬁcﬂﬁlﬂ
ﬁmr:mmmﬂmmﬂj%mﬂm!
mﬂ?ﬂﬂﬂl’lﬁlfvﬁmﬁmﬂl

(A) 1800 (B) 21,000

(C) 71,200 (D) 1600

103, IF ABCTS is a cyelie quadrilateral with £ A = 507,
£ B=807,then £ Cand £ Dare

IR ABCD weh Ui T 8 FEa £ A = 50°

£ B=80°, 72 C T 2 DFQTEHN
{Ad 1157, 1157 (B) 1107, 1207
(C) 1007, 1307 (D) 130°, 1007

104. By melting two solid metallic spheres of radii | cm
and 6 em, a hollow sphere of thickness | cm is
made. The external radius of the hollow sphere will
be

| of st 6 Wl Bew & & ow ufas
AT @ e 97 | 3 ded e araer
e FAar Bl whaw A 6 agd Ber =

g
a8 emiday (B) 7 em/ardy
(€ 9 gy (D) 3 cr/af
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hotween 4000 and 5000 that is
hof 12, 18,21 and s
3 el wE S 12, 18,21 3R

105, The number
divisible by eac

4000 30T 5000

12 ﬁﬁ:ﬁﬁﬁ.ﬁmﬁfﬁﬁﬁﬂwm?
(A) 4302 (By 4032
(C) 4023 (D) 4203

106, The side BC of a triangle ABC is proceed to D, If

3
2 ACD=1127and £ B= =2 then the measure

of & B is
ﬁaﬁmnuciﬁfﬂmucﬁwnﬁﬁm
mg|uﬁ4hcn=||2“maﬁ= iﬁﬁ,a’r
£ B &1 ATg ATl

{A) 457 (B} 647

(C) 48° (D) 307

107. The measure of each interior angle of a regular
polygon with 8 sides is

T HH agﬂﬁﬁﬂﬂﬂﬂmﬁ'ﬁ,mm

IT=ATIE FI0T F AY FAHT |
{A) 100° (B) 45°
(€) 120° (D) 135°

108, A and B invest in a business in the ratio 3 - 2, 1f 5%
of the total profit goes 1o charity and A's share In
profit is 8,550, then total profit is

A 3R B R R A 3 0 2 & e F o
Rl | TR gm e w % amam
R e & A A F A A e 18,550 8,

o oot et FereT
(A) T 14,250 (B) T 15,760
(€)X 15,735 (D) T 15,000
Directions :
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The bar graph is representing marks of a student in
different subjects. Study the bar graph and answer §
questions,

fder : &3 1w F Rl Regndt Err R
fagat @ wrw 3E gRfir v E | Em e @
mﬁﬁﬁﬁﬁﬁai?ﬁtmﬁl

12l T
£
e

Z4p- i

H

£
¥
it

L —
109. In which subject the student is poor 7

et v v A wnaic & ?
(A) Science Rrsmer (B) English 3y

(C) History sfagra (D) Mathematics a1foTg

£}

110. What is the average percentage obtained by the

student 7

Frecmeit Zamy v it 1 At wiverd aamd|
(A) 57% (B) 80%
(C) 90% (D) 63%

111. What is the ratio of the highest marks to the lowest
marks obtained by the student ?

Fcamit ZaRT v siftwaw 3w AR e
3l T eI FATE ?
(A)2:11 (B)11:2

(C)9:2 D2:9

2. q‘#h: are the average marks obtained by the student

Rearlt 2 sthrerer Ry 37 e e

113, At what subject the student is sharp 7

Rt R 3% waey e QR E 2
(A) Mathematics (B) English
e 3arSAr
(C) History (D) Science
gfae e
e If sin A—cos A= ‘ﬁ:l , then the value of sin A

ccos A s

"ﬁ'_l.a‘rsinﬁ-ooshﬂ

AfE sin A — cos A =

A Fand|
(A) 3 (B) 1
2 N
A @ 5
© 5 .

115, A man gives 50% of his money to his son and 30%
to his daughter. 80% of the rest is donated to a trust.
If he is left with 216,000 now, how much money
did he have in the beginning 7

U SATRT HUA G F 0% HAT H9N g Y AT
30% T AT T &Y & § | W Tfr v 80%
wr e e Y & R wnar ¥ | 3w AR 3w
Eaﬁaammm.um_wﬁ.atmmm
# o v A o '

{A) T8,00,000 (B) ¥4,00,000

(C) 240,000 (D) TR0,000

116. Two numbers are in ratio 5 * 8. If their difference is
48, then the smallest number is

e HEATHT & AT 5 : 8 ¥ I Ievw e 48

& o wa Sy dE g
(A) 96 (B) 80
(C) 64 (D) 128

117. The value of cos 1° cos 2° cos 3° ... cos 180° is
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cos |° cos 29 cos 3° ... cos 1807 =T AF Fand|
(A)1l (B)0
(<) ﬁ (D) L
Directions :

Revenue eamed by the Central Govemment is

given in Pie—chart. Study the pie—chart and answer
4 questions.

fdr : ¥ TR F@ Ko T ged W
(qTE =ITé) 7 ZiraT T ¥ | 36 A & AT FY
i Pfef@a 4 T 31 S

118. The ratio of revenue earned from excise duty and

custom duty to that of others is

3eaTe;, F AR HWen e A Hfela T

A= Custom duty / HIe W7
B = Other / 39

C = Income Tax [ ST

D = Corporation T /Pww ¢
E = Excise duty / T 0%

I e et I P Yored F T@N|
(A)11:5 (B)11:2
(Cy1:3 (mil:4

119. If the percentage of revenue earned by the Central
Government from Corporation Tax is x times 1o
that of the percentage of money eamed from Excise
Duty, then the value of x is

ot Fe, BER A T & § AT 9 A
T T AT, 30 Y A TN B arelr

Hﬁl*ﬂﬁlﬁﬁxqﬂﬂta\'xﬂmaﬁﬁi
{A) 14 {B) 11
10 1
< 92 (D) 41
41 9

120. The ratio of revenue of the Central Government
eamed from the Custom Duty and Income Tax is

% WER A geE AR I d A
B AT TS T ATl e |

16

(A)9:26 (B) 10:9

(C) 14 : 41 (M 7:13

121. If the income of Central Government from Excise
Duty is 28,618 crores, then the total revenue
earned by the government is

uﬁ:mtﬁﬂmmaﬁ‘rsﬁmﬁm
228,618 TR FIC &, A FEHR @ Ao Fo
T JaTt|

(A) 245,600 crores/Flrg  (B) 247,200 crores/&{Ts
(C) 269,800 crores@lis (D) 758,900 crores/®lly
122.

"
Janardan completes = of his work in 10 days. Time

-

he will take to complete _E of the same work, is

S TR @ & %mmﬁaﬁ@m

¥ g T T - 3T el e 3 T 2
(A) 9 days/ 2=t (B) 6 days/ f&1
(0) 4 days/ Tt (D) § days/ 2=t

123. The simple interest on ¥36,000 for the period from
5™ January to 31 May, 2013 at 9.5% per annum is

236,000 HFUA 9T, 9.5% arfles fr T A 5 AATS
¥ 31 #E, 2013 e 1 AT AT T GEI7

(A) T1,368 (B) 71,425

(C) 71,400 (D) 71,338

124. The hypotenuse of a right-angled triangle is 39 cm
and the difference of other two sides is 21 cm.
Then, the area of the triangle is

ﬁrmmﬁgawmutsamtmmﬂ

ot (FIESH) 1 Hew 21 Je §, A PR
CER TR

(A) 540 sq.cm/aat @&t (B) 270 sq.cm/adt ##T
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(C) 450 sq.cov/aaT FHY (D) 180 sq.om/ast &=t

(25. Work done by (x + 4) men in (x + 5) days is equal
to the work done by (x — 5) men in (x + 20) days.
Then the value of x is

(x + 4) oAl EERT (x + 5) Rt 7 Rar aar
Frdf (v — 5) ST @ (x + 20) B & Rve ame

Fr & T &, A x FAA aqizU |
(A) 25 (B) 30
(15 (D) 20

126. If (2, 0) is a solution of the linear equation 2x + 3y
=K, then the value of K is

it FAEROT 20 + 3y < K, FTET (2, 0) &,
at K 7 Al aa1sv |

(A)5 (B) 2

(©)6 (D) 4

127. The medians CD and BE of a triangle ABC
intersect each other at Q. The ratio of A ODE : A
ABC is equal to
fndr faror ABC &r AfCgend CD 3 BE ws-
G HI O G Freeh &, &Y A9 A ODE : A ABC
e gueT gem?

(A)1:12 (B)12:1

(©4:3 (D)3:4

128. Two trains of lengths 150 m and 180 m respectively
are running in opposite directions on parallel tracks.
If their speeds be 50 km/hr and 58 kmtr
;ﬁpectively, in what time will they cross each other

&mﬂ?ﬁmﬂrmﬁmn 150 #t 3t 180
Mt mrR s w Rl R aa @ & |
e 3y afy FEe S0 Refger R OS8

Rertveier g, & Rt s 3 & Uoh-g@Y @ R
w2

W30 secondsimug ~ (B) 15 secondsAwUE

17

(©) 22 seconds/Bum (D) 11 secondsd=FoE

129. If the compliment of an angle is one—fourth of its
supplementary angle, then the angle is

Tfe B Ior &1 g 30F HYIH HI0T FH TFH-

YT g1 o T 4T g ?
(A) 120° (B) 60°
(C) 90¢ (D) 30°
130. )
Iftan —-—= = 3 ., then the value of cos a is
aftan == = f3E ¥ cos o F AR aAR
M\ A ® 1
« 1 (D)0
a2

131. A number between 1000 and 2000 which when
divided by 30, 36 & B0 pives a remainder 11 in
each case is

1000 3 2000 & dr F1$ 0dy He € O Al
30, 36 3T 80 & T&saa BFam St &Y wedsh Aol
AT g0

(A) 1451 (B) 1641

(©) 1712 (D) 1523

132. 51% of a whale number is 714. 25% of that number
is
Tl quiter &7 51% § 714, @ 38 wEaT #7 25%
TN ?

{A) 450 (B) 550

(C) 250 (D) 350

133, Arrangement of the fractions
$ 2 7 5,
E.'E:'E-.Fllﬂumndfngorderm
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= 1—3—; ,Eﬁr oE WET #H O
o= g o few v v s ?

(A) (B}

|

wr v

ERep

) m

El

Wil ks &Aoo
"

ol o | b
—
[
u.1|- .:llJ.
.-il.’l |_‘_'||,.._,.

[ B

ad | e

o

|

b w]

134, The gveraee marks of 30 students in & class is 72,
The average marks of boys and pirls in that subject
arc 70 and 75 respectively. The number of boys in
the class is

50 Taegn it & v & How Fw 2 E 130
Fawg # Teat it weft & 3ea o w70

3t 75 &5 S FaT A T Fr s EOET |
{A) 35 (B) 25
(C) 20 {30

135. After allowing 15% discount, the selling price of a
radio becomes 255, The marked price is

el tfaeh wr 15% @Y g & F TOETE I
Haa frag 1255 & ArdY § | 35FT I AT

T EETr?
{A) % 500 (B) T 600
(O T300 (D) Z 400

136. A cuboidal shaped water tank, 2.1 m long and 1.5
m broad is half filled with water. If 630 litres more
waler is poured into that tank, the water level will
rise

U BARRR 9 A Efr 2.0 Jr 7 A s
< ¥ 3T Il A | Tl 3 630 ey ueh

FH = AT A T F aG
(A) 015 covgredr (B) 0.18 crv Bl
(C) 2 e/ St (D) 0.20 metre!sdzy

137. In aclass there are 30 boys and their average age is
17 years. Un one boy aged I8 years lcaving the
class and another joining, the average age becomes

16.9 years. The age of the new boy is
o 4 30 ek AT 3R e g 17 %
£ | 3w ¥ o 18 A9 Y Y F AT Far
mmm%mmmmnﬁww
AT &, 3R g0 v sad g 169 T4 8 e
& | oA w5 1 Hg AR |

(A) 11 yearsig® {B) 15 years'a§

{h2s !.-e:-Lr\u'"E[‘li (D) 13 :.'ca,rsﬂ'gf

138, ‘The difference between the greatest and least prime
numbers which arc less than 104 is

g I e ST e St 100 &
& &, % v & Moo T B ¢
{A) 97 (B M

(C) % {D) 95

139, By =elling 12 kg of potatoes for 63, a shopkecper
gains 5%. Whal does his gain or lose percent by
selling 530 kg of the same potatoes for T247 5007

2 forarm 3T 163 & A= ox TR ST S
A @aT & | Al ag 50 R e 124750 F a9
A e AT widerd aasT

(A} No profit no grin/y & &0 = &7 g1

(B) 1% lossgiTe

(C) 2.5% loss/fay (1) 144 profiviemst

140, 1f the sum of all interior angles of a regular polygon
is 14 right angles, then its number of sides is

Az Trdr wr-agae & vl ol @ s 14
BREIOT B A FHERT St i de aaree)
(A7 (B)9

()6 (D} 8

.? . then the value of E.:.:E.I. is
At +h"
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a ] a” =h-
(— il H‘I’
b 67 Tt e Ay
Ay 539 (D) 389
661 851
() 6_::.: () 661
36 i59

142, Two trains start at the same time frgm Aligarh aisd
Dielhi and proecd towards eash ather at the mare of
[4 ke anel 21 km per hour respectively, Whey they
meet, it is found thal one train hys travelled 70 km
more than the other, The distanee beiween two
stations is

& Yot O 8 T R e ik Ry 3y
FAT: 14 frelt H 21 feefr iy B T TR W
UGB AT T T R E | 5 F v gy
et  ait 7 a9 rora & 6 3o 9 v e
¥ G Yot R 3T 70 Rl e a2
| At weart g B ghrar g

AY 350 kmfinsfr (B} 140 krn/firrdr

() 210 kvt (7 300 km/fafy

143. The list price of an electric fan is 2300, If two
successive discounts of 159 and 10% are allewed,
its selling price would be

Tl el & d@ S el 00 ¥ | TR
T W 15% HR 10% & FF g & s, a

Faeht ey P = i
(AT 227.50 (B) ¥ 225
(O 230 (D) ¥ 229,50

14, Heig,‘ht of a prism-shaped part of a machine is € em
d ils base is an jsosceles triangle, whose each of
the equal sides is § cm and remaining side is € cm.
The volume of the part is

Ml & Foared s & s fr S g
i 1 e faerror &
OF ayE Arely st (wrss) 5 W A §

AL G S PN —
e e

19
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F

(A} 50 et (B) 86 cr/dsdt

(C) 120 ety (D) 96 cmaey

145, The value of the expresaion

\fg*\fﬁ_-—.jﬁ— = upto T is

ﬁfﬁ— 6~ f6— ~upto = =i W AW FAT
gram?
{432

() 30

s 3

146, It—:'t:ﬁ:E:l&A:C_|:3.I‘.hEnA:H:C
!IﬁA:H=E:I3ﬁTA:E—-]:].E|’lA:B:C
FATENT?

(AY3:2:1 (By1:3:2

(€32:1:6 (D)1:2:6
147. The rate of simple interest per annum of bank being

1
decreased from 5% o 3 =%, the annual income of

a person from interest was less by 105, The SLm
deposited at the bank was

A EANT WIROT waTaT Y e 21 5% 3 Hey
3 2 5% R ST T Pt carer 1 2 @ gt

arell A AT 2105 o B U | 4T A
T i TR FAT s g ofe
{A) 77,000 () 26,000

() 37,200 (I 6,800

148, 1
Ifx+ —
X

=3, then the value of x* + --1T is
1 l
afex+ —=3@ + L F AT AR |
X X
{A) 132 {B} 110

(D) 123
Test Farm No. 8115800
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149, The graph of linear equation ¥ = x passcs through

the poini
i wlEET y = & W AEn ey () e fEeg
HIERAT
(A 3 (B) i1
0, =
@ 11y 3 3

150, If cos 20° — m and cos 70° = n, then the value of m’
.
Frmus

ﬂﬁ{'cas?ﬂ‘fm]l'r{m?n“=n§.a’rm:+n3$r

HiA |
(A 1 (B) 1
i 1 (D 3
N 2
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pART-IV ¢ GENERAL AWARENESS (mr.1v .

g

(s1. Pawel pawlikowskis film °Ida’ won the Best
n 'Ful‘cigﬂ ungung:tFllm Award at the 87ih
Academy Awards in 2015. This film is from

which country?
qri STaeiiERIEhT 1 e 53T W 2015 #F 87F
Wsﬂmlﬂ?ﬁwﬁmtﬂﬁrm‘?

(A) Canada /&=TET (B} Poland vz

(C) Argentina/ 3TSTEWT
(D) South Africa / f&YoT 3nhraFr

{52, How many members are there in Public Accounts
Committee?

& war #AR F Fras e £
{A) 28 members {B) 20 members
28 "o 20 #5F
(C) 22 members (D) 30 members
22 §aH 30 FEm

153. Who was the creator of the famous Rock Garden of
Chandigarh?
8T & TRE U TS &1 Gareh let A7

(A) Nek Chand / Aeeig

(B) Khuswant Singh / Gerac FHe

(©) Edward Baker / U533 a9

(D) Charles Corbusier / TTe8 iﬂ%ﬁlﬂ'\’

154, Who is the first Indian woman to win an Asian
Games gold in 400 m runs?

400 3, &l 7 uftrars Jer FaoT Ga Sae el
W Sl A A 82

(A) Sania Mirza / giferam RST

®) b1, Usha /<t 8, 3uT

©) Shiny Abraham / e 3rTER

O Kamaii Sandhu / HAFAT HY

Downloaded From: http://sscportal.in
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155. Who invented the mobile phone?
HIRTSH Wi 1 3nfaserr fwe famar ar?
(A) Chuck Hull
b O
(B) Raymond Samuel Tomlinson
1 A i
{C) Martin Cooper
aTfésT T
(D) Tim Berners — Lee
or a= i -

156. The basic unit of biosysternatics is
Saafiey £ o gfic a7
{B) Genatype

s

{A) Florotype
FHRIEET

(C) Phenotype (D) Ecotype

teTsy FHIeTST

157. Who is the only second Vice—President of India to
get a second conseculive term after S.

Radhakrishnan?
AT & aF Fi § THATT gEY 39S §

ol T QUi & aia qEd HwiAn
37l 7 g ey R
(A} Dr, Shankar Dayal Sharma / ST. 3{EFREQTel AT
(B) M.H. Ansari / .U 38
(C) K.R. Narayanan /&5, AU
(D) B.S. Shekhawat / dr.0g. fr@@d

158. The term GIGO is related to
GIGO ¥Iee FER dag &7

(A) Flexibility / Ferraifafaer
(B) Accuracy | TeRTHT

(C) Automatic / 3EARE
(D) Versatility / a&feforer

hat transmits disease from one
er is called

o e 1 Y FTRE
Test Form No. 9115800
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Aot oA = T e B
(A) Hybrid / grofas

() Fragment | iz

(B) Cigne / T

D) Vector { 52T

164l Which Indian ruler fought the Kalinga War'!
o iy Qe & KT v g W

(A) Ashoka/ i

{B) Chandragupta Maurya / =gt #ts
() Shivaji / FaTslr

LL)] Samudragupta | FHEATST

161. Which decade s

Decolonisation'?

A A DF W MR e

called as the ‘Fra of

(BT 7 g e &7
(A) 1980's! & (B) 1900 s 3
(C) 1950 ) 197075 %

162, Mame the Republic which was a conlederacy of
tribes in the &th cen. B.C,

IH TAUTAT F AW TAFC AT TS A SA 9
sferat @ =T 4

(AY Avanti / 315 (B) Kosala ! T

) Vajji / a==01 (D} Gandhars / T80T

163. Who was the Founder of the Indian Mational Army?
AR T2 BT F1 HEATGEF i A7
(A) Gandhiji
sl
(B) Bal Gangadhar Tilak
Ao e
(") Subhas Chandra Bose
T A
(D} Nehru
AEE

y Downtoaded-rom: http://sscportal.in

164. Which of (he following is true with reference
blood platelels?

et (s 3 Tt # fofarae &
AT A BT
{A] They havc prominent nuclei, IAS qHY
HIIFH O 2
(B They are also called thrombooytes, Iog
yrETEEe ¥ g §
{C) They have a pigment called haemoglobin.
IAH ErA I AAE NI gl ol
(D) They phagoeytosis. 3
tRTEEE THT A T fed T|d §1

are  involved  in

165. Which of the following was the founder of the
house of Peshawar?

e & ¥ Fi9 SIEr g # qEaEs
e
{A) Balaji Vishwanath
HTATAT FraarT
{B} Puarsuram Triamsuk
I ST
{(C) Balaji Baji Rao
HTATAT anatt I
{I"} Ramachandra Pant
THEE 9T

I66. An example of hormone is

ETHTA 1 3ETgU0T T
(A Omylogin {) Renin
EriE
(<) Peprin (D) Cytosine
qodier lEmri

167, Find the odd one:
Foes ereg; are B

(A) Saqiveda/ HARAE

(B) Vishnu Puranafﬁ'ﬂ_’!'«:[{‘l‘ﬂl'
(O Rigveda ! H7 e (D) ¥ajurveda ; T
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16% India's ranking on Global Corruption Index 2014
has been placed at rank among 175
nations.

farer syerery et 2014 3 a1 1 4 175 T
& e Wi | T

(A) gsth / g5af (B) g3rd / 8387

(C g7th ¢ 8737 (D) 5ist/ 817

fErege Fel & seatsia #i 7 i ax
T AT Fe el 77
{A) Mitrpzen
aArggIare
(B) Carbon dioxide
Fraw TE-AFEES
(C) Sulphur dioxide

169. What is the major cause o October Heat'?
HFAL I T Togm wroy i
(A} Low pressure systems over the Indo—Gangetic

plains ML 3 31 Haret 75 ey g ey
(B) Hot and dry weather 73} 3frr e HEH
(T} High temperalure associated with high humidity

3ol HTEAT & WY WA 35T drge
(D) Very low velocity winds TEA FH A T
EL
170. Kathekali dance form is associatcd with wlich
State?
AT [T T FhE o d § Tag B7
(A) Andhra Pradesh
3Ter wERr
(B) Manipur
AR
(C) Kerala (D) Tamil Nadu
T GIEECI

171 The "EL Nino' phenomena which sparks climatic
cutreme around the globe, originates in the

v AT qEer # S fave & ant AR seary
TR T FHIT0T alt, ST & TRH FHT UT?

W Atlantic Ocean / sreaifees FErawR
®) Pacific Ocean / werier AmTTT
©) Sea of China / ey mmre

[

e SIE-AHEFTEE
(D) Helium

173, Wha waon Australian Open Mixed Doubles Final
20157

JitERaTE Jim s sded PR 2015 &
(EECIEICEE
{A) Murray (LK.} and Maria Sharapova (Russia)
T (FAR.) A AR T ()

(B)Y Dijokovic (Serbia) and Serena Williams (LL5.A)
Awfaw  (mfiEn v A Rfeaer

(FHNFN

(C} Kristina Mladenovic (France) and Daniel Nester
(Canada)

R EdT TR 3 e S
(T2

(¥} Martina Hingis (Switrerland) and Leander Paes
{India)

ArfE BEw (Roreet® v st dw
(HR)

174, The State with highest production of wheat in vear
2002-13 s

aﬁmi:—tsﬁmm#ﬂﬁwm‘rﬁm
TeHIEH Y

(A) Tamil Nadu / affra=g

(B) Uuar Pradesh / TeoT uer

(C) West Bengal / 99T S9mar

(D) Haryana / zfrmmom

175. 5.L unit of Magnetic flux is

®) Indan Ocean / iz srgTaTT
172, ya.:
:;:',;h £as emitted by power stations causes acid
23
Dow

g g Y .1 gfae F e
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(A) weber—m’ (B) weber/m'
qaT-m’ Fay/m'’
(C) weber/ aT (D) weber/m
dayim
176. E'*-Iame the two research stations maintained by India
in Antarctica.
JeTFew A WRA ganr Heptflia & gy
Fet & A aqmE)
(A) Sagar Nidhi and Yamunotri /AR g

(B) Gangoiri and Himadri / 3974t vef fRafy
(©) None of these / 3o13t & & &
(D) Maitri and Bharti / 2y va steaht

177. Which part of the cinchona yields a drug?

BRI 1 Fla 71 sy i
(A) Pericarp (B) Endosperm
FeA e Hordy
(C) Bark (D) Leaf
Bl

178. According to 2011 Census, the State having
maximum population is
2011 F SO F AR, T T A Iy
Hitrras 4
(A) Tamil  Nadu

CIECOIES

(C) Uttar Pradesh / 3+ W&
(D) Kerala/ ¥Te

/' (B) Maharashtra / HgRTS

179. ThlI:J:lmom of arranging data in logical sequence is
cal
a1 T 71 STCT 1 STaTeYd = 1 ik
Y AT T 07
(A) Sorting
Hifear
(B) Reproducing

PR

(C) Summarizing

(D) Classifying
24

FEE T FETHRTST
180. What is the famous Chipko movement associated
with?
(A) Trees
™
(B) Saving the tigers
AT} &Y A=
(C) Saving the wetland
IEHTA = T
(D) None of these
g A FE G
181. An ordinance issued by the Governor has to be
passed by the Assembly within
U9 @ JHT ey fum-men aanr
fordel ®HT A 91 &1 grar g7
(A) 10 weeks (B) 12 weeks
10 T 12 e
(C) 8 weeks (D) 6 weeks
8 AT 6 "=E
182. As a result of higher rate of inflation in India, the
LS. dollar will
R # AEehifa f1 35T 2T & Ry,
IR S
(A Constant / o (B Appreciate |/ wg
W | ST |

(C) Negligible / 3avofrg T |
(D} Depreciate / g FmT |
183. Which endocrine gland is found in chest cavity?
T8 [T 3 et A ierwrdy T o e 2
(A) Thyroid gland / =ifafars 2ify
(B) Adrenal gland / wdierey 7%y
(©) Pineal gland / Rferae 5ty
(D) Thymus gland / arEFe 3R

184. The number of hydrogen bonds between guanine
Test Form No. 9115800
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and cytosine in DN A i

DNA F - AT T & & smeew

Ayl Y e fraet g i
(A) 4 (B) 1
)2 (D)3

183. A semi enclosed coastal bady of water which has a
free connection with the open sea is called

O Y Y g AT I g R g

TR T T o v &, O e
{A) Ria coast (B) Estuary

o R
() Fjord [} Cove

st (TRais) T T

186, As per Census of India, an Urban area with a
population from 50,000 to 99,999 is named as

Wl T STTTOTeT & 31T, 50,000 3 99,999 Fef
I SETEEAT aTe WEL BT Y ey B
(A} Class 1V town
AoV
{B) Class 1l town
Aoty il A
(C) ClaseTtown
iy L 9reg
(D) Class IIi town
Aoty Ul 9rgw

187. To reduce tooth decay most 1oothpastes contain a

Zat & arg #r dw F T iR o A

T 2T B
(A) Bromide (B) Fluaride
#hngs LG EINES
(C) Todide (D Chlcride
e FAREE
188, Who is the author of the baok "The Three Mistakes
In My Life'?
g off RTE = A T T & A Fi
&
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(A} Chetan Bhagat / 7957 5979
(B) Jhumpa Lahiri { gFT 1 |
(C) Ruskin Bond / 13 givz
(D) Amrita Pritam / AT T
189. Hydraulic brakes work on the principle of
Saaiod e e e oT s e &7
{A) Mewton's law/ e A
{B) Thomson's law / wiFes Faw
(C) Pascal's law | aTFere oo
(%) Bernoulli's theorem / = fell 9#

190, The part of brain which controls emotional
reactions in our bady is

AT I 3 ATETS &1 HieT | HET d39cHE

st & R Fard?
{A) Cercbrum (B) Meninges
TAET GUECS
() Thalamus (D) Hypothalamus
Larerincy i b oo

191 IF density of oxygen 5 16 times
what will be their eorresponding
sound?

ﬂﬁ&ﬁﬂmmmmﬁmﬂmwﬁ,m
ST AETET AT & A9 T Mg T g
(A)1:4 (B2:1

that of hydropen,
ratio of velocity of

(Cr1:16 (D)4:1

192. Scismography is the seicnes of

ey RreT framer &2
(A) Mountains {B) Earthquakes
i s
{C) Rivers (D} Volcanoes
CIEe ST

o

193. Cuba is the largest producer of
AT AT B a31 See 82
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(A) Sugar { ==Y (B Barlev { St

(C) Rice ' arae (D) Wheat { 9§

194, Expand NADARD,
NABARD &7 qof %47 g0 |
(A) National Bank For Asian Research Development

e #F it v P daaadT

{B) Mational Bank for  Agricoltural and Rural
Devaloprment
s & B et d U3 W EETHT

(C) WMational Bank for Agri Related Developrment
A & i T s dawuie

(D) Mationsl Bank for Agriculture and Respurce
Dievelopment

M A BT Tfimead 03 TEH daeaHe

195. RK. Laxman died on Janmry 26, 2015, He was a
lexding of India.

HF. F@RAC T 26 Sad, 2015 F fAae @
Y| 5% WA & H¥aoi il

(A) Playhack Singer ted s
(B} Cartoonist wgferee

(€) Kathakali Dancer FFel g
() Space Scientist g TE faae

19%. Who has authored the book "The Kingdom of God
is Within You'?

"g s 3w AT 59 BRE O qeo Pt |

Terair 87
(A} Henry David/ &t 2R
(B) john Ruskin / it TEwe
(C) Mahatma Gandhi / FgTzaT 717l
(D} Leo Tolstoy / firgt et

137. Which of the following colour of [ i
least through the |:|ris.r|1'r3‘lE o deviates

WERI T AR ¥ # wofr fre
BT 9 T 3T g &2

26
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(A) yellow ! JI=T (B) green / gr

{C) ped /AT (D) wivlet / ot

198, A demand curve, which is |1?;1I‘H.||ﬂ.!| 1o the ]Iﬂrizu"r_al
axis, showing quantity, has the price clasticity ogyq
1]

g aret & WA AT a5 7 S0 A & gy
& P o BrAEa WA g 87

(A) Less than one T & (B) Infinity 3y
&HH

() Ome T (1) Zero o

199. Which city will host the 2022 Common Wegli
Games {CW3E)?
2022 ¥ TgHsd AE B A T 9 wmy

H?

[A) Montreal (B Colombao
HirZaT FleraT

(C) Glasgow (D) Durban
TR E

200. The detericration of a metal by an electrochemical
process is commonly termed as

AT T T S £
(A) Corrosion {B) Abrasion
TETROT e
{C) Erosion {I}) Passivation
HE AT

Test Farm No. 9115800
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